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QUESTION 1

What types of authentication are supported in Junos for OSPF? 

A. Simple password 

B. MD5 checksum 

C. Hitless key chain of MD5 keys/checksums 

D. All of the above 

Correct Answer: D 

 

QUESTION 2

What are two Layer 2 firewall filter types? (Choose two.) 

A. port-based 

B. packet-based 

C. flow-based 

D. VLAN-based 

Correct Answer: AD 

 

QUESTION 3

You have an OSPF NSSA area that is also receiving IS-IS routes on the ASBR. 

In this scenario, which LSA type is used to announce external IS-IS routes? 

A. Type 7 

B. Type 8 

C. Type 1 

D. Type 4 

Correct Answer: A 

 

QUESTION 4

What are three types of port designation specific to Private VLANs? (Choose three.) 

A. Promiscuous ports 
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B. Transparent ports 

C. PVLAN trunk ports 

D. Designated ports 

E. Isolated ports 

Correct Answer: ACE 

 

QUESTION 5

Which OSPF area type receives only the default route from the backbone? 

A. transmit area 

B. totally stubby area 

C. not so stubby area 

D. stub area 

Correct Answer: C 

 

QUESTION 6

Click the exhibit button. 

Switch-1 in the exhibit receives a packet from User A with a destination MAC address of 
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00:26:88:02:74:47. 

Which statement in this scenario is correct? 

A. 

Switch-1 sends the packet out ge-0/0/7 only. 

B. 

Switch-1 sends the packet out ge-0/0/7 and ge-0/0/8. 

C. 

Switch-1 sends the packet out ge-0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/9. 

D. 

Switch-1 sends the packet out ge-0/0/7, ge-0/0/8, and ge-0/0/9. 

Correct Answer: A 

 

QUESTION 7

Each PC and IP phone in your network is connected to a switch using the same port. All incoming data traffic is
untagged and belongs to the v10 VLAN, while traffic coming from the IP phones is tagged with a VLAN value of 20 and
should belong to the v20 VLAN on your switch. 

In this scenario, which statement is correct? 

A. You must enable the voice VLAN feature on the incoming interfaces and assign the v20 VLAN. 

B. You must enable an IRB interface and assign it to the v10 and v20 VLANs. 

C. You must enable LLDP-MED on the incoming interfaces and assign the v20 VLAN. 

D. You must enable the guest VLAN feature on the incoming interfaces and assign the v20 VLAN. 

Correct Answer: A 

 

QUESTION 8

The next hop for the route is not reachable. 

In this scenario, what are two ways that BGP handles this route? (Choose two.) 

A. The route is placed into the forwarding table as an inactive route. 

B. The route is not placed into the forwarding table. 

C. The route is placed into the routing table as a hidden route. 

D. The route is placed into the forwarding table as a hidden route. 
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Correct Answer: BC 

 

QUESTION 9

Which statement about persistent MAC learning is correct? 

A. Trunk ports require MAC addresses to be configured on each VLAN. 

B. Port moves require manual operator intervention. 

C. Access ports must be configured with the no-mac-learning command. 

D. 802.1X must be configured on the port for persistent MAC learning to work. 

Correct Answer: B 

 

QUESTION 10

You notice that currently two MAC addresses are associated with a single access port in the bridge table of one of your
EX Series switches. 

What are two explanations for this behavior? (Choose two.) 

A. The native VLAN feature has been associated with the access port. 

B. The mac-move-limit feature has been disabled on the access port, 

C. The access port connects to an IP phone which connects ta a host device 

D. The access port connects to multiple hosts through a rogue device 

Correct Answer: AD 

 

QUESTION 11

You are configuring OSPF and want to ensure that interface ge-0/0/3 is preferred over interface ge-0/0/4. 

Which statement is correct in this scenario? 

A. Configure ge-0/0/3 with a higher metric. 

B. Configure reference bandwidth. 

C. Configure a redistribution policy. 

D. Configure ge-0/0/4 with a higher metric. 

Correct Answer: D 
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QUESTION 12

Which two statements are true about GRE tunnels on Junos devices? (Choose two.) 

A. Only one GRE tunnel can be included for each logical unit. 

B. Multiple GRE tunnels can be included for each logical unit. 

C. GRE interfaces can include multiple logical units. 

D. GRE interfaces can include only a single logical unit. 

Correct Answer: AC 

 

QUESTION 13

Click the Exhibit button. 

Referring to the output shown in the exhibit, which two statements are correct? (Choose two.) 

A. The device is not an ABR. 

B. The device originated the 192.168.1.2 database entry. 

C. The device originated the 192.168.1.1 database entry. 

D. The device is an ABR. 

Correct Answer: BD 
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QUESTION 14

If an EX Series switch receives a frame with a known destination MAC address, what is the expected behavior? 

A. The frame is sent out all ports assigned to the associated VLAN except the ingress port on which the frame was
received. 

B. The frame is sent out all ports assigned to all configured VLANs except the ingress port on which the frame was
received. 

C. The frame is sent out all trunk ports associated with the ingress VLAN regardless of whether a matching MAC
address was found in the bridge table. 

D. The frame is sent out the egress port with a matching destination MAC address within the bridge table associated
with the ingress VLAN. 

Correct Answer: D 

 

QUESTION 15

Click the Exhibit button. 

Which statement is true about the configuration shown in the exhibit? 
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A. Only the next-hop-self export policy will be evaluated when routes are sent to neighbor 172.30.1.1. 

B. Both the adv-aggregate and adv-custom export policies will be evaluated when routes are sent to neighbor
172.30.2.1. 

C. Both the adv-aggregate and next-hop-self export policies will be evaluated when routes are sent to neighbor
172.30.1.1. 

D. Only the adv-custom export policy will be evaluated when routes are sent to neighbor 172.30.2.1. 

Correct Answer: D 
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